COCHIN PORT TRUST

www.tenderwizard.com/CPT



Tender No: T6/T-1974/2022-C Date: 29.11.2022- (PRICE BID)

Name of Wok: "PROVIDING STEEL TUBULAR FENDER PILES AT IOCL JETTY"

	SCHEDULE- A- SCHEDULE OF QUANTITIES TO BE DONE ON CONTRACT							
	Please Enter the Contractor							
Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words	
	Pulling out broken stumps of fender pile in IOCL Jetty and stacking including cost of all labour, tools, equipments etc. complete as per the directions of the Engineer-in-charge.	4.00	Each	40,643.74	Rupees Forty Thousand Six Hundred Forty Three and Seventy Four Paise Only	162574.96	Rupees One Lakh Sixty Two Thousand Five Hundred Seventy Four and Ninety Six Paise Only	
	Fabricating and supplying 450mm dia(OD) tubular fender piles using MS plates of 10mm thick with 6mm thick wrapper plate including cost of all material, labour, tools, equipments etc. Complete as per detailed specifications, drawing and directions of the Engineer-in-Charge.	12100.00	One Kilogr am	211.30	Rupees Two Hundred Eleven and Thirty Paise Only	2556730.00	Rupees Twenty Five Lakh Fifty Six Thousand Seven Hundred Thirty Only	

Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Department al rates (Rs) in figures	i i jangrimantgi rgtaci	Amount (Rs) in figures	Amount (Rs) in words
	Transporting, pitching and driving the fender piles in position at IOCL Fine Arts Jetty at Ernakulam including cost of all labbour, tools, equipments etc. complete as per detailed specifications and directions of the Engineer-in-Charge	4.00	Each	64557.54	Rupees Sixty Four Thousand Five Hundred Fifty Seven and Fifty Four Paise Only	258230.16	Rupees Two Lakh Fifty Eight Thousand Two Hundred Thirty and Sixteen Paise Only
	Filling inside the tubular fender piles with crusher run screening including compacting, cost of all materials, labour, tools, equipmenents etc. complete as per detailed specifications and directions of the Engineer-in-Charge.	16.00	One Cubic Metre	3852.50	Rupees Three Thousand Eight Hundred Fifty Two and Fifty Paise Only	61640.00	Rupees Sixty One Thousand Six Hundred Forty Only
	Providing M15 grade cement concrete using 20mm graded metal for plugging the pile top including, compacting curing, cost of all labour, materials, tools, equipments etc. complete as per detailed specifications and directions of the Engineer-in-Charge.	0.25	One Cubic Metre	10,700.75	Rupees Ten Thousand Seven Hundred and Seventy Five Paise Only	2675.19	Rupees Two Thousand Six Hundred Seventy Five and Eighteen Paise Only

Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity		Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
	Painting the outer surface of the tubular fender piles with one coat of primer and two coats of coal tar Epoxy paint including cost of all lbaour, materials, tools, equipments etc. complete as per detailed specifications and directions of the Engineer-in-Charge	30.00	One Square Metre	257.88	Rupees Two Hundred Fifty Seven and Eighty Eight Paise Only	7736.40	Rupees Seven Thousand Seven Hundred Thirty Six and Forty Paise Only
	Total						Rupees Thirty Lakh Forty Nine Thousand Five Hundred Eighty Six and Seventy Paise Only

Sl.N o:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
		BID	QUOTING A	REA			
		Departeme ntal Estimated amount	Percentage quoted above/ below the Departmental Amount		Above/ Below		
P	Percentage quoted above/ below the departmental amount shown in the above schedule				In Figures	In Words	
Notes: 1. The quotationer shall quote either plus or minus sign (eg: +5 or -5) and in figures and words 2. Only two decimal digits shall be accepted 3. quotationers shall also quote Above/ Below in words themselves in the last column. 4. In case of discepancy in words and figures the quoted figure in word will prevail			3049586.71				